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Questions

Marijuana is less toxic than alcohol or tobacco.

be legalized

What is the antonym of 'Sate'?

The meaning of the stem mal- in the word malediction is

, some people believe it should

Identify the best answer which is not a synonym for the word 'relationship.

Pakistan will win the World Cup

Identify the grammatical error in the following sentence."In 2005, superstar, 50 Cent, was

placed on the Forbes Celebrity Top 100 list."

One of the most beautiful things about Jakarta is its .........

archipelago and around the world

wealth from both within the

European cuisine always ......... a sense of nostalgia and romance, like running into an old

flame

The Scottish Parliament has appointed Mr. Maley to .........
estimate and likely completion date of a new information technology project

an assessment of the current cost

Identify the correct sentence with properly placed commas.

Answers Choice

A. due to

B. therefore
because
SO

Disappoint
Envision
Hostile
Pate

lessen

cheap, worthless
badly

tasteless

filiations

nescience
cognation
homology
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sympathetic
humorous
sentimental
optimistic
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Comma splice
Misplaced modifier
Dangling modifier
Punctuation error

oowm»

coronary
culinary
cautionary
cursory

evolves
evinces
evokes
evicts
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carry off
B. carry out
C. carry on
D. carry over

A. Two students obviously pranksters
replaced the chalk, in the
classrooms, with sticks of white
chocolate

B. Two students, obviously
pranksters, replaced the chalk in the
classrooms with sticks of white

C. Two students obviously
pranksters, replaced the chalk in the
classrooms, with sticks of white
chocolate

D. Two students obviously
pranksters replaced the chalk in the
classrooms with sticks of white
chocolate



